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1.Find the limit, if it exists or show that the limit does not exists.
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2.Determine the set of the points at which the function is cont.

) x2y3 _
@FY)=52  Bf(xy)=] 2045 if(x,y) # (0,0)
’ 1, if(x,y) = (0,0)

3.Show that f:D € R™ - R given by f(x)=||x|| is cont. on R".
4.Let ¢ € R", show that the function f(x) = c-x ¥x € R"is cont.on R",

5.Show that limyy)-0,0) /1yl = 0 by definition.

1.Find the first partial derivatives of the function.

@f(x,y):% ®f(x,H=tan"1 (xv/t) ©f(x,y)= f; cos(t?)dt

@f(x,y,z,)=xyz? tan(yt) ©u=y/x? + x2 + -+ x2 Dz(x, y)— @ 7(x,y)=f (—)

2.Find all the second partial derivatives of u(s,t)=€ sint

3.Let u(r,0)=e"ind. Find pw 269
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4.Verify that the function u(x,y,z)—\/—ﬁ satisfies Uyy + Uyy + Uy,=0

5.IF u(Xq, Xg, - Xg)=e1¥1H " FanXn where a2 + --- + a2 = 1. Show that

0%u 0%u
— 4 e —=
ax? ax% u
1
x2+y?2

x%+y?) sin( ),if (x,y) # (0,0)
Jif(x,y) = (0,0)
(DShow that fx and fy exist on R2, but not cont. at (0,0).

@Compute fxy(0,0) and fyx(0,0).

6.Let f(x,y)=



